First Year Alumni S	Survey 2019						
Respondents:	16 displayed, 1	39 total	Status:	Closed			
Launched Date:	08/18/2020		Closed Date:	11/02/2	2020		
1. We would like to	know about you	ır short-term p	lans. Please mark	each of the following	as they relat	te to you	currently:
	Y	es	No	Not Applicable	Response Total	Points	Avg
I am currently emplo or have a job offer in field directly related my degree	1 a 93 759	% (15)	6.25% (1)	0% (0)	16	n/a	n/a
I am currently emplo or have a job offer in field that is not relate my degree	17.65	5% (3)	76.47% (13)	5.88% (1)	17	n/a	n/a
I am searching for employment in a fiel directly related to my degree	1 / h	5% (3)	64.71% (11)	17.65% (3)	17	n/a	n/a
I am searching for employment in a fiel not directly related to degree	119/0	0 (0)	82.35% (14)	17.65% (3)	17	n/a	n/a
I have been accepted into a graduate progr to continue my education at Fitchbur State University	ram 0%	o (0)	70.59% (12)	29.41% (5)	17	n/a	n/a
I have been accepted into a graduate or doctoral program to continue my education another institution	23.53	3% (4)	47.06% (8)	29.41% (5)	17	n/a	n/a
I am not planning to continue my education this time	on at 37.5°	% (6)	50% (8)	12.5% (2)	16	n/a	n/a
I am a member of the Armed Forces	0%	0 (0)	93.75% (15)	6.25% (1)	16	n/a	n/a
Affiled Folces				Total Respondents	16		
2. How long did it ta	ike you to find v	your current po	osition?	1	-		
		1		Response Total	Response Percent	Points	Avg
Have not found a				1	6%	n/a	n/a
position yet Held the position wh	ile I			_	4.50	,	,
Total the position will				2	12%	n/a	n/a

completed my degree						
Secured my position						
prior to graduation			3	19%	n/a	n/a
Less than 30 days after graduation			1	6%	n/a	n/a
1 - 3 months after graduation			3	19%	n/a	n/a
4-6 months after graduation			6	38%	n/a	n/a
7 or more months after graduation			0	0%	n/a	n/a
Did not pursue employment			0	0%	n/a	n/a
		Total Respondents	16	100%		
3 Are you satisfied with	the course of your career thus far	9				
3. The you satisfied with	the course of your career mas far	•	Response		Points	Avg
Vary Satisfied			Total 7	Percent 47%	n/a	
Very Satisfied						n/a
Satisfied			5	33%	n/a	n/a
Neutral			2	13%	n/a	n/a
Dissatisfied			0	0%	n/a	n/a
Very Dissatisfied			1	7%	n/a	n/a
Not Working at This Time			0	0%	n/a	n/a
		Total Respondents	15	100%		
		(skipped this	question)	1		
4. Where are you current	ly employed and what is your job	title?				
			Total F	Respondents	s 16	6
5. In what sector are you	employed?					
			Response Total	Response Percent	Points	Avg
Not employed			0	0%	n/a	n/a
Self-employed			0	0%	n/a	n/a
For-profit corporation/company			7	44%	n/a	n/a
Government or other public insitution or agence	cy 🗀		1	6%	n/a	n/a
Military			0	0%	n/a	n/a
Non-profit organization, institution or NGO			8	50%	n/a	n/a
		Total Respondents	16	100%		
6. Please select the indus	stry that best describes your emplo	over.				
s. Trease sereet the made	and seed describes your empte	. <i>y</i>	Resnon	se Respons	e	
			respoil	se respons		

	Tr. 4 1	D .	Points	Avg
NT/A NT 4 ul-iu -	Total	Percent		
N/A - Not working	0	0%	n/a	n/a
Agriculture Biotech/Pharmaceutical	0	0% 0%	n/a n/a	n/a n/a
Biotech/Pharmaceutical Business Services	0	0% 0%	n/a n/a	n/a n/a
	0	0% 0%	n/a n/a	n/a n/a
Communications/Marketing/PR Commuter Science/Technology	0	0%	n/a n/a	n/a n/a
Computer Science/Technology Education: Higher Education	1	0% 6%	n/a n/a	n/a n/a
Education: Higher Education	1	0%	n/a n/a	n/a n/a
Education: PreK - High School Engineering	$0 \\ 0$	0%	n/a n/a	n/a n/a
Engineering Environment		0%		
Financial Services	0	0% 0%	n/a n/a	n/a n/a
Financial Services Fine/Performing Arts	0	0% 0%	n/a n/a	n/a n/a
Fine/Performing Arts Food Service	0			
	0	0%	n/a	n/a
Healthcare Hearitality/Tourigm/Travel	10	62%	n/a	n/a
Hospitality/Tourism/Travel	0	0%	n/a	n/a
Information Technology	0	0% 0%	n/a	n/a
Law/Legal Services Manufacturing	0	0% 0%	n/a n/a	n/a n/a
Manufacturing Madia/Jaurnaliam/Publishing	0	0% 0%		
Media/Journalism/Publishing Medicine	0	0% 31%	n/a n/a	n/a
	5	31% 0%		n/a
Military/Defense Politics/Public	0	U%o	n/a	n/a
Policy/Advocacy	0	0%	n/a	n/a
Retail	0	0%	n/a	n/a
Social Services	0	0%	n/a	n/a
Sports/Fitness	0	0%	n/a	n/a
Technology	0	0%	n/a	n/a
Other, please specify	0	0%	n/a	n/a
Total Respondents	16	100%		
7. We are always interested in our Alumni's continued interest in their personal and if any, professional organizations have you joined since completing your program of		nal develo	pment. V	Vhich,
	Т	otal Respo	ndents	9
		ped this que		7
8. We believe that Fitchburg State Alumni are always expanding their body of know	`			
types of professional development activities you have engaged in since completion of attended conferences or workshops, given presentation at conference or workshops, licensures or certifications completed, etc.)	of your pr	ogram of st	tudy? (i.e	.
	Т	otal Respo	ndents	9
		ped this que		7
9. We like to know where our graduates are in the world. Please provide us with th which you currently reside.	`			,
	Total l	Respondent	ts 1	4
		nis question		
	skipped ti	ns question	1) 2	-

10. Rate the quality of the	he following in	n respect to tl	he degree yo	u received o	ne year ago:			
	Excellent	Goo	d	Fair	Poor	Respons Total	e Points	Avg
Quality of faculty instruction	56.25% (9)	37.5%	(6) 6.	25% (1)	0% (0)	16	n/a	n/a
Level of individual attention	43.75% (7)	37.5%	(6) 18	.75% (3)	0% (0)	16	n/a	n/a
Quality of academic advisement	43.75% (7)	50% ((8)	0% (0)	6.25% (1)	16	n/a	n/a
Curriculum linked to job related skills and knowledge	62.5% (10)	37.5%	(6)	0% (0)	0% (0)	16	n/a	n/a
Preparation to meet the demands of my job	53.33% (8)	33.33%	(5) 13	.33% (2)	0% (0)	15	n/a	n/a
Preparation to continue my education	37.5% (6)	37.5%	(6) 18	.75% (3)	6.25% (1)	16	n/a	n/a
11. Looking back at you following:	ır academic ca	reer at Fitchb	ourg State Un		al Responder ease select yo		igreement v	with the
	Strongly Agree	Agree	Neutral	Disagre	e Strong Disagre	•		Avg
The social and interpersonal skills you developed have impacted your life	50% (8)	37.5% (6)	6.25% (1)	6.25% (1) 0% (0) 16	n/a	n/a
You have benefitted from the personal connections you made	43.75% (7)	25% (4)	25% (4)	6.25% (1) 0% (0) 16	n/a	n/a
You have benefitted from the social networks of which you were/are a part	31.25% (5)	31.25% (5)	25% (4)	12.5% (2	2) 0% (0) 16	n/a	n/a
The benefits of attending were worth the financial cost	50% (8)	37.5% (6)	6.25% (1)	6.25% (1) 0% (0) 16	n/a	n/a
				To	tal Responde	nts 16		
12. How well did Fitchb	ourg State Univ	versity prepar	re you in ter	ms of the fol	lowing skill	sets:		
		Very Well	Well	Neutral	Poorly		esponse Total	oints Avg
Ability to think analytically	ally and	75% (12)	25% (4)	0% (0)	0% (0)	0% (0)	16 r	n/a n/a
Ability to acquire new siknowledge on your own		68.75% (11)	31.25% (5)	0% (0)	0% (0)	0% (0)	16 r	n/a n/a
Ability to use the knowl or perspectives gained from ajor field	•	68.75% (11)	31.25% (5)	0% (0)	0% (0)	0% (0)	16 r	n/a n/a
Ability to orally commu Ability to judge	nicate well	56.25% (9)	37.5% (6)	6.25% (1)	0% (0)	0% (0)	16 r	n/a n/a

vey Results									
information/ideas/action based on sources/method		68.75% (11)	31.25% (5)	0% (0)	0% (0)	0% (0)	16	n/a	ı n/a
Ability to write effective	ely	50% (8)	31.25% (5)	12.5% (2)	6.25% (1)	0% (0)	16	n/a	n n/a
Ability to use information in intellectual and/or propursuits		50% (8)	43.75% (7)	6.25% (1)	0% (0)	0% (0)	16	n/a	ı n/a
Ability to understand an cultural and ethnic differ between people		56.25% (9)	37.5% (6)	6.25% (1)	0% (0)	0% (0)	16	n/a	n n/a
Ability to understand interpretatives on economic social, and cultural issue	ic, political,	50% (8)	25% (4)	25% (4)	0% (0)	0% (0)	16	n/a	n n/a
Ability to gain an undersappreciation for the arts	standing of or	46.67% (7)	33.33% (5)	20% (3)	0% (0)	0% (0)	15	n/a	n n/a
Ability to understand an quantitative principles as	11 0	50% (8)	31.25% (5)	18.75% (3)	0% (0)	0% (0)	16	n/a	n n/a
Ability to understand sci method	ientific	50% (8)	31.25% (5)	12.5% (2)	0% (0)	6.25% (1) 16	n/a	n n/a
					Total Re	espondents	s 16)	
13. How well did Fitchb sets:	ourg State Univ	versity prepa	re you for the	e following		-		uational	skill
	Very Well	Well	Neutral	Poorl	y Ve Poo	•	sponse otal	Points	Avg
Your ability to work as a member of a team or group	62.5% (10)	25% (4)	6.25% (1) 6.25%	(1) 0%	(0)	16	n/a	n/a
Your ability to get along with people of diverse backgrounds and perspectives	68.75% (11)	18.75% (3)	12.5% (2) 0% (0	0) 0%	(0)	16	n/a	n/a
Your ability to lead others effectively	62.5% (10)	12.5% (2)	12.5% (2) 12.5%	(2) 0%	(0)	16	n/a	n/a
Your ability to evaluate and choose between alternative courses of action	68.75% (11)	25% (4)	6.25% (1) 0%(0	0%	(0)	16	n/a	n/a
Your awareness of contemporary issues and their cause and consequences	75% (12)	25% (4)	0% (0)	0% (0	0) 0%	(0)	16	n/a	n/a
compequences				То	otal Respond	dents	16		
14. What did we not ask	you about but	t you feel we	should knov	v?					
						Total Res	ponden	ts 3	3
					(ski	pped this	question	n) 1	3
15. Please select the Deg	gree you comp	leted at Fitch	nburg State U	Jniversity fr	om the list	below.			
						ponse Re	sponse	Points	Avg

Bachelor of Arts (BA)	0	0%	n/a	n/a
Bachelor of Science (BS)	13	81%	n/a	n/a
Certificate of Graduate Study (CAGS)	0	0%	n/a	n/a
Master of Arts (MA)	0	0%	n/a	n/a
Master of Arts in Teaching (MAT)	0	0%	n/a	n/a
Master of Busienss Administration (MBA)	0	0%	n/a	n/a
Master of Education (MEd)	0	0%	n/a	n/a
Master of Science (MS)	3	19%	n/a	n/a
Total	Respondents 16	100%		

16. Please select the major field studied for your degree:

	Response Total	e Response Percent	Points	Avg
Arts Education (MEd only)	0	0%	n/a	n/a
Biology	0	0%	n/a	n/a
Business Administration	0	0%	n/a	n/a
Chemistry	0	0%	n/a	n/a
Clinical Mental Health Counseling	0	0%	n/a	n/a
Communication (MS only)	0	0%	n/a	n/a
Communications Media	0	0%	n/a	n/a
Computer Information Systems	0	0%	n/a	n/a
Computer Science	0	0%	n/a	n/a
Criminal Justice	0	0%	n/a	n/a
Curriculum and Teaching (MEd only)	0	0%	n/a	n/a
Early Childhood Education	0	0%	n/a	n/a
Educational Leadership and Management (MEd only)	0	0%	n/a	n/a
Economics	0	0%	n/a	n/a
Elementary Education	0	0%	n/a	n/a
English Studies	0	0%	n/a	n/a
Environmental and Earth Science	0	0%	n/a	n/a
Exercise and Sports Science	0	0%	n/a	n/a
Game Design	0	0%	n/a	n/a

Geographic Science and Technology		0 09	% n/	a n/a
History		0 09	% n/	a n/a
Human Services		0 09		
Industrial Technology		0 09		
Interdisciplinary Studies		0 09	% n/	a n/a
LECOM Early				
Acceptance		0 09	% n/	a n/a
Mathematics		0 0	% n/	a n/a
Middle School Education		0 09	% n/	a n/a
Nursing - General		16 100	0% n/	a n/a
Nursing - LPN to Baccalaureatte		0 09	% n/	a n/a
Nursing - RN to Baccalaureatte		0 09	% n/	a n/a
Occupational/Vocational Education		0 09	% n/	a n/a
Political Science		0 09	% n/	a n/a
Psychological Science		0 09		
Science Education (MEd only)		0 09	% n/	a n/a
Sociology		0 09	% n/	a n/a
Special Education		0 00	% n/	a n/a
Technology Education (Grades 5-12)		0 09	% n/	a n/a
School Counseling		0 09	% n/	a n/a
Total Respon	dents	16 100)%	
17. To which gender identity do you most identify?				
	Response Total	Response Percent	Points	Avg
Male	3	19%	n/a	n/a
Female	13	81%	n/a	n/a
Transgender Male	0	0%	n/a	n/a
Transgender Female	0	0%	n/a	n/a
Do not identify as female, male or transgender	0	0%	n/a	n/a
Total Respondents	16	100%		
18. To which racial heritage do you predominantly identify?		_ 3 3 7 4		
	Respons Total	e Response Percent	Points	Avg
White/Caucasian	15	94%	n/a	n/a
Asian	0	0%	n/a	n/a
Hispanic/Latino	1	6%	n/a	n/a
<u>-</u>	1	070	11. 4	-1 44

Black/African American		0	0%	n/a	n/a
American Indian		0	0%	n/a	n/a
Other		0	0%	n/a	n/a
	Total Respondents	16	100%		
19. How many dependents do you have (not including yourse	elf)?				
		Response Total	Response Percent	Points	Avg
1		0	0%	n/a	n/a
2		1	100%	n/a	n/a
3		0	0%	n/a	n/a
4		0	0%	n/a	n/a
5		0	0%	n/a	n/a
5+		0	0%	n/a	n/a
	Total Respondents	1	100%		
	(skipped this	maction)	15		